MATH

Money Word Problems M

Jill had $15. He bought a pair of shoes for $3.75 and a
pair of socks for $5.50. How much money does he have
now?

Each donut costs $3.50. How much do 8 donuts cost?

A jar of honey costs $7.25. How much do 4 such jars
cost?

A can of soft drinks costs $1.60, and a bottle of juice
costs $4.60. What would be the total cost to buy two
cans of soft drinks and two bottles of juice?




MATH

Money Word Problems M

Answers

Jill had $15. He bought a pair of shoes for $3.75 and a
pair of socks for $5.50. How much money does he have
now?

$5.75

Each donut costs $3.50. How much do 8 donuts cost?

$28.00

A jar of honey costs $7.25. How much do 4 such jars
cost?

$29.00

A can of soft drinks costs $1.60, and a bottle of juice
costs $4.60. What would be the total cost to buy two
cans of soft drinks and two bottles of juice?

$12.40




